e = n ove'z = P X A9 /A8asug
001 010
mOIMNﬂﬁ -+ .VOIMOMWQ = ELOZ N T T [TT1T 1 1T 1 T T [TTT T T N
20-3¥1°S -+  10-3291 = [A9¥] L - LT =
10-d092 —+ €0—-300°1 = HN N , , | 7
€1-325'9 = xnid C + AIV ]
20-391°'8 = ajed OOQW [ 1 | I T T B 1 | NI
A9/ AS1auy A9¥ /ABasuy
001 o1°0 001 o1°0
T T [TTT T T [TTT T T 1 T T [TTT T T 1 T [TTT T T 5
B i ) B ]
~ . =
= = 0
— 4 $-0T & - 7
(=) u _
")
| — \/) | —
- - o T -
u _ 3 N .
- . [ m
- - w [ B
3 Je0l =
a = _
=
[ I li11 11 AT levoi1 14 || I N I Lty o

92€09¢—¥'116GS0r SXde

Apqq,uured

1700 Glceeo

o
s[enpisay

1-0T1

(A®¥ s)/syuno)



